THGEE X THEE

SF64E 4 A
(SZFHHAL - BT RAE )
(BAL : TF)
B H AITAE R T HAR 725 | IR THA
RERALFREIA 200,600 A 2,330 198,270
o1 # B #& W A 196,530 A 3,030 193,500
02 % O i » F ¥ UL A 4,070 700 4,770
EASH BB SIA 0 0 0
01 f A& Fl B 48 & It A 0 0 0
1 H R B R SR 5,380 A 4,380 1,000
01 # # #% % % W & I A 5,380 A 4,380 1,000
-2 ISV REE RV ON 10 0 10
01 % H ] B & 4 & I A 10 0 10
Z DAL DA 1,810 A 250 1,560
01 =% A # & % I A 390 A 90 300
02 M M & %4 &k & & INA 1,270 A 20 1,250
03 I A 150 A 140 10
MEREBERHERHB SN 0 0 0
01 fig & % fi 5 # B) & I A 0 0 0
TERR RS TSN 0 0 0
01 i &% % f % % Mt & I A 0 0 0
BT B PEBURIXA 0 7,080 7,080
01 A% F & PE B I A 0 0 0
0 2 i 5% e fif 55 5 32 8 2E IR I A 0 7,080 7,080
#L R X 53 TR R A @ I 0 0 0
01 # & X 4 [ M A& I A 0 0 0
SR ON SRy 207,800 120 207,920
RIIRZ B SRS 0 0 0
A B 207,800 120 207,920
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AN # B X H 136,150 11,400 147,550
o1& B #H M = H 0 0 0
oW B & B X H 85,230 9,000 94,230
o3l B H 5 X H 26,540 1,000 27,540
04 W B W B K 5 X M 4,950 A 70 4,880
051 W & ~ = H 980 0 980
06 & & M #H X M 18,450 1,470 19,920

¥ E E X H 36,540 A 360 36,180
01 # & # = t 10,940 A 1,650 9,290
o2 fk M iy 4 #H X H 210 260 470
03 & U # X s 240 A 50 190
04 # ik # t 870 190 1,060
05 % # M % # X W 2,230 20 2,250
o6 B M M B X H 950 0 950
o7tk B M B #H X H 70 A 20 50
08K N X # & X H 1,420 A 70 1,350
09k ik B B L 7,480 0 7,480
10 & s 2 X s 10 0 10
1194 %8 & B g & & XMW 1,400 210 1,610
12 % bR ¥t X t 190 A 10 180
138 & B X t 0 0 0
14% % H 8 &# =X H 7,160 130 7,290
158 B < E # X H 830 20 850
16 # # X i 980 60 1,040
173 % & X t 0 0 0
18 4 % H 1,560 550 2,110
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¥ B B XN 14,620 A 1,750 12,870
o1 # E A& #H X H 600 50 650
ozl B # Wk % 50 0 50
03 ik & =& W # X W 270 110 380
04 #F & M F #H X M 1,240 10 1,250
05 F ¥ H ¥ & & X H 1,110 70 1,180
06 Fl W #® A # X M 1,280 100 1,380
07k H X B & X H 700 0 700
0 8 #& F # = i 0 10 10
09 f& & # = t 3,020 A 2,320 700
108 & & X W 710 10 720
112 i # X t 150 20 170
12 )k H 2 X t 240 210 450
13% % % it # 3 550 270 820
14 F % Bt = t 170 0 170
15 &% 4 2 X s 920 A 40 880
16 % kK X 750 A 500 250
17 - &g R S 1,200 0 1,200
18 M B B X 210 10 220
1o 5 B X W 750 0 750
208 4 % th 0 50 50
215 = & X 240 10 250
2 2 M 53 th 460 180 640
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Z DR DORH 1,300 60 1,360

01 F & F 4K EHEXH 1,290 60 1,350
02 4 = s 10 0 10
[ 72 ¥ PE BUAS 3 1 1,860 7,690 9,550

01 ®# #» W B X H 0 0 0
02 YW GEH (o) 1,430 A 980 450
03 # & ¥ Wt 5 = W 0 4,300 4,300
04 = i & #f B H 5 < MW 0 4,000 4,000
05 # B K O fif & B % 3 i 430 370 800
06 ¥ 7 bv =7 B XM 0 0
FESL I PE S 17,330 A 16,920 410

01 B Wk #5 £+ 51 2 & pE X 400 10 410
02 AN % B 2 & E X 6,930 A 6,930 0
0 3 fii &% H& I % Bi 5L & PE X H 10,000 A 10,000 0
04 % o o B 37 78 4 B 37 3 0 0
PR X 53 R &3 H 0 0 0

01 #L ;5 X4 M # A & X i 0 0 0
% 2 AR 207,800 120 207,920

T K % 0 0 0

X H & E 207,800 120 207,920

35




